
In this sample we use Lato font [?] as the body font. For the math we use thesame input as in The LATEX Companion [?, § 12.5]).In all examples we use Iwona scaled 1.15

Iwona regular

First some large operators both in text: ∫∫∫

Q
f (x, y, z) dx dy dz and ∏

γ∈ΓC̃
∂(X̃γ);and also on display:

∫∫∫∫

Q

f (w, x, y, z) dw dx dy dz ≤
∮

∂Q

f ′
(

max
{

∥w∥
|w2 + x2| ;

∥z∥
|y2 + z2| ;

∥w ⊕ z∥
∥x ⊕ y∥

})

≾
⊎

Q⋐Q̄



f∗






Q(t)




√
1 − t2








t=θ

t=α

− (∆ + ν − v )3

(1)
For x in the open interval ]−1, 1[ the infinite sum in Equation (8) is conver-gent; however, this does not hold throughout the closed interval [−1, 1].

(1 − x)−k = 1 +
∞∑

j=1
(−1)j

{
k
j

}
x j for k ∈ N; k ̸= 0. (2)

Iwona condensed
First some large operators both in text: ∫∫∫

Q
f(x, y, z) dx dy dz and ∏

γ∈ΓC̃
∂(X̃γ );and also on display:

∫∫∫∫

Q

f(w, x, y, z) dw dx dy dz ≤
∮

∂Q

f ′
(

max
{

∥w∥
|w2 + x2| ;

∥z∥
|y2 + z2| ;

∥w ⊕ z∥
∥x ⊕ y∥

})

≾
⊎

Q⋐Q̄



f∗






Q(t)




√
1 − t2








t=θ

t=α

− (∆ + ν − v )3

(3)
For x in the open interval ]−1, 1[ the infinite sum in Equation (8) is conver-

1



gent; however, this does not hold throughout the closed interval [−1, 1].
(1 − x)−k = 1 +

∞∑

j=1
(−1)j

{
k
j

}
x j for k ∈ N; k ̸= 0. (4)

Iwona light

First some large operators both in text: ∫∫∫

Q
f (x, y, z) dx dy dz and ∏

γ∈ΓC̃
∂(X̃γ);and also on display:

∫∫∫∫

Q

f (w, x, y, z) dw dx dy dz ≤
∮

∂Q

f ′
(

max
{

∥w∥
|w2 + x2| ;

∥z∥
|y2 + z2| ;

∥w ⊕ z∥
∥x ⊕ y∥

})

≾
⊎

Q⋐Q̄



f ∗






Q(t)




√
1 − t2








t=θ

t=α

− (∆ + ν − v )3

(5)
For x in the open interval ]−1, 1[ the infinite sum in Equation (8) is conver-gent; however, this does not hold throughout the closed interval [−1, 1].

(1 − x)−k = 1 +
∞∑

j=1
(−1)j

{
k
j

}
x j for k ∈ N; k ̸= 0. (6)

Iwona light condensed

First some large operators both in text: ∫∫∫

Q
f (x, y, z) dx dy dz and ∏

γ∈ΓC̃
∂(X̃γ );and also on display:

∫∫∫∫

Q

f (w, x, y, z) dw dx dy dz ≤
∮

∂Q

f ′
(

max
{

∥w∥
|w2 + x2| ;

∥z∥
|y2 + z2| ;

∥w ⊕ z∥
∥x ⊕ y∥

})

≾
⊎

Q⋐Q̄



f ∗






Q(t)




√
1 − t2








t=θ

t=α

− (∆ + ν − v )3

(7)
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For x in the open interval ]−1, 1[ the infinite sum in Equation (8) is convergent;however, this does not hold throughout the closed interval [−1, 1].
(1 − x)−k = 1 +

∞∑

j=1
(−1)j

{
k
j

}
x j for k ∈ N; k ̸= 0. (8)
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